§ Rectangular domains with boundary condition
7% Walter A. Strauss 6.2 p.161

§ 01 Problem setup -

1. Domain : fEFEH Q=[0,a]x[0,b] = R* » Hr1 a>0 » b>0 > #EH oQ

2. Dirichlet fIfE : —A=Au in Q > U[,,=0
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§02 H=L*(Q)

UGS, o I o0 TR L (Q) 1Y Hilbert 58 (i F 22K

B, (X, Y) :sin(nlzx)sin(nzgy), n,n, e N={,23..}

CELERBIE L (Q) FHILLIERS (ym, (6 V)i, o, (6 ¥))=0 )
§ 03 Dirichlet Laplace FH.T-HJzE

SPECo; et ([0, 21X [0, b])={ 72 (% %), (n.n,) e (N")}
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§ HEE
° DEEE S (Separation of Variables ) : (B EEHEEEATEREMD 572 (PDE) HEtEmES

M7 (ODE) :

XH Y”
u(z,y) = X(2)Y(y) = X = Azs -y = Ayy A=A+ A

BRIEMF X(0) = X(a) =07Y(0) = Y(b) = 08t —#RIBHAE X, (x) = sin(™]F),

Yo, (y) = sin("57)
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2. FEdERS n,n, BERTTHIEE © A, , Do > &N >, »>ow

3. REMERNER
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